Quadratic Equation Questions for IBPS Clerk Pre, SBI Clerk Pre and IBPS
RRB.

Directions: In each of these questions, two equations (I) and (ll) are given. You have to solve
both the equations and give answer.

1. 1. x*-4913=0 I. y*-361=0

A ifx<y B. ifx<y C.ifx>y D. ifx2y
E. if x =y or relationship between x and y can't be established

2. 1.x*=361 I.y* =7269 + 731

Aifx<y B.ifx>y C.ifxx>y D.ifx<y
E. if x =y or relationship between x and y can't be established

3. 1L15x°+x-6=0 I. 5y -23y+12=0

Aifx>y B.ifx<y C.ifx2y D.ifx<y
E. if x =y or relationship between x and y can't be established

4. 1. x°-2744=0 Il. y*-256=0

Aifx>y B.ifx<y C.ifx2y D.ifx<y
E. if x =y or relationship between x and y can't be established

5  I.x*-8x-20=0 Il. 3y’ - 60y +297 =0

Aifx>y B.ifx<y C.ifxzy D.ifx<y

E. if x =y or relationship between x and y can't be established

6. 1. 2x*+9x+7=0 Il. y’+4y+4=0

Aifx>y B.ifx<y C.ifx2y D.ifx<y
E. if x =y or relationship between x and y can't be established

7. L xX*-7x+12=0 I. 3y*-11y+10=0

Aifx>y B.ifx<y C.ifx2y D.ifx<y
E. if x =y or relationship between x and y can't be established

8. 1L.2x*+15x+28=0 . 2y*+13y+21=0

Aifx>y B.ifx>y C.ifx<y D.ifx<y
E. if x =y or relationship between x and y can't be established




9. 1L.xX*-8x+15=0 I.y*—12y+36=0

Aifx>y B.ifx>y C.ifx<y
E. if x =y or relationship between x and y can't be established

10. 1.x*+9x+20=0 I.y* =16

Aifx>y B.ifx2>y C.ifx<y
E. if x =y or relationship between x and y can't be established

11. 1.x*+(343)/%=56
A ifx>y B.ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established
12. 1.5x+4y=8 I.3x+2y=4
Aifx>y B.ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established
13. I.x*+8=6x I.y? +15 =8y

Aifx>y B.ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established

14. 1.4/49 ++/x+15=+169 I.y*-212 =364

Aifx>y B.ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established

2 (1052 _ 18 _ 7
15. L -=—=0 "'T&"/;'T;
A ifx>y B.ifx<y C.ifx2y

E. if x =y or relationship between x and y can't be established

16. L.2xX*+7x+5=0 .3y’ +5y+2=0

A ifx>y B. ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established

17. L.2x*-13x+21=0 I.3y’-14y+15=0

A ifx>y B.ifx<y C.ifx2y
E. if x <y or no relationship can be established between x and y.

1. (y)*? x (y)*® - 295 = 217

D.ifx<y

D.ifx<y

Lifx<y

Lifx<y

Lifx<y

Lifx<y

Lifx<y

Lifx<y

Lifx<y
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18. 1.2x*°-13x+18=0 I.y*-7y+12=0

A ifx>y B.ifx<y C.ifx2y D.ifx<y
E. if x =y or relationship between x and y can't be established

19. L.x*+6x+9=0 Il.y*-y-20=0

A ifx>y B.ifx<y C.ifx2y D.ifx<y
E. if x =y or relationship between x and y can't be established

20. 1.3x*-10x+8=0 .2y’ -19y +35=0

A ifx>y B.ifx<y C.ifx2y D.ifx<y
E. if x =y or relationship between x and y can't be established

21. 1. x*-3=2x Il. y¥*+5y+6=0

Aifx>y B.ifx<y C.ifx>y D.ifx<y

E. if x =y or relationship between x and y can't be established

22. 1. X*-25x+114=0 Il. y¥-10y+24=0

Aifx>y B.ifx<y C.ifx>y D.ifx<y
E. if x =y or relationship between x and y can't be established

b o5yx Il. y* +v256 =625

4
23. l. \/—_+ =

=

Aifx>y B.ifx<y C.ifx<y
D. if x =y or relationship between x and y can't be established

24. 1. x*-7V3x+36=0 Il. yY-11V3y+84=0

Aifx>y B.ifx<y C.ifx2y

D.ifx<y E. if x =y or relationship between x and y can't be established
25. 1.x*=361 1.y =7269 + 731

Aifx>y B.ifx<y C.ifx<y

D.ifx2y E. if x =y or relationship between x and y can't be established
26. 1. X*+5x+6=0 I.y’-4y-12=0

A ifx>y B.ifx<y C.ifx2y

D. if x =y or relationship between x and y can't be established E.ifx<y




27. 1.25x*-90x+72=0 I. y* + 26y + 168 = 0

A ifx>y B.ifx<y C.ifx2y

E. if x =y or relationship between x and y can't be established

28. 1.3x*-8x-16=0 I.3y* - 19y + 28 =0
A ifx>y B.ifx<y C.ifx2y

E. if x =y or relationship between x and y can't be established

29. 1. 12x*-4x-5=0 Il. 8y’-4y-4=0
Aifx>y B.ifx<y C.ifx=y

E. if x <y or no relationship can be established between x and y.

30. 1.6x*-13x-44=0 II.4y*-17y-42=0

Aifx>y B.ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established

31l. L.3x+5y=345 I.4x-9y=-1

Aifx>y B.ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established

32. 1.35x*+4x-63=0 .7y’ -4y-20=0
Aifx>y B.ifx<y C.ifx2y

E. if x =y or relationship between x and y can't be established

33. 1.x*-1089=0 I.3y*-363=0
Aifx>y B.ifx<y C.ifx2y

E. if x =y or relationship between x and y can't be established

34, 1.x*-4Vv7x+21=0 1.2y’ - 8V5y-50=0

A ifx>y B.ifx<y C.ifx2y
E. if x =y or relationship between x and y can't be established

Jifx<y

Jifx<y

Lifx2y

Lifx<y

Lifx<y

Lifx<y

Lifx<y

Lifx<y




CORRECT OPTIONS:

1 2 3 4 5 6 7 8 9 10
A B E E E A D C D

11 12 13 14 15 16 17 18 19 20
D D E E D B C E E D
21 22 23 24 25 26 27 28 29 30
A C D B A B A E E E
31 32 33 34

A E E E
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EXPLANATIONS:

1.

I. x*-4913=0
or, x> = 4913
x=17

I.y* =361
or,y=%119

While comparing the values of x and y, one root value of y lies between the root values of x

Hence, option E is correct.

I. x*=361
x=%19

I.y* = 7269 + 731
y> = 8000
y=20

X<y
Hence, option A is correct.

I. 15 +x—-6=0
15x° + 10x—9x—6=0
5x (3x+2)—-3(3x+2)=0
(5x—3) (3x+2) =0

3 2

=573
Il. 5y —23y+12=0
5y’ —20y—3y+12=0
S5y(y—4)-3(y-4)=0
(y—4)(5y-3)=0

3

=4 =
y==%73

X<y
Hence, option B is correct.
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4.

. x*=2744=0
x> = 2744
x=14

I.y*—256=0
y? = 256
y=116

While comparing the values of x and y, one root value of x lies between the root values of y.

Hence, option E is correct.

l. X’—8x—-20=0
=x*—10x+2x-20=0
=>x(x—-10)+2(x—10)=0
= (x—10)(x+2)=0
Then,x=+100rx=-2

1. 3y* — 60y + 297 =0

=y’ — 20y + 99 = 0 [Dividing both sides by 3]
=y’ -11y-9y+99=0
=y(y-11)-9(y-11)=0
=(y-11)(y-9)=0
Then,y=+1lory=+9

So,whenx=+10,x<yfory=+1landx>yfory=+9
Andwhenx=-2,x<yfory=+1landx<yfory=+9

. So, we can observe that one root value of x lies between the root values of y. Therefore, the
relation between x and y can't be determined.

Hence, option (E) is correct.
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. 2x*+9x+7=0
or,2x2+2x+7x+7=0
or,2x(x+1)+7(x+1)=0
or,(2x+7)(x+1)=0

x=-1 7
=-1,-3
Iy’ +4y+4=0

or,y +2y+2y+4=0
or,y(y+2)+2(y+2)=0
or,(y+2)(y+2)=0
y=-2,-2

Hence, relationship can't be established between x and y.

Therefore, Option E is correct.

L.x*=7x+12=0
or,x2—4x—3x+12=0
or,x(x—4)-3(x—4)=0
or,x(x—4)-3(x—-4)=0
or, (x—4)(x-3)=0

~ x=3,4

I.3y’-11y+10=0
or, 3y2—6y—5y+ 10=0
or,3y(y—2)-5(y-2)=0
or, (B3y—-5)(y—2)=0

5
. =2'_
y=43

Hence, x>y

Hence, option A is correct.
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10.

. 2x* + 15x + 28 = 0
or,2x2+8x+7x+28=0
or,2x (x+4)+7(x+4)=0
or, (2x+7) (x+4)=0

7

. =—4 —=
X "7y

I.2y*+ 13y +21=0
or, 2y’ +6y+7y+21=0
or,2y(y+3)+7(y+3)=0
or,(2y+7)(y+3)=0
7

. y=-3,— E
Hence, x<vy.
Therefore, Option D is the correct answer.

l.x*—8x+15=0
or,x2—5x—3x+15=0
or,Xx(x—5)-3(x-5)=0
or, (x-5)(x-3)=0
~x=5,3

I.y*—12y+36=0
or,y2—6y—6y+36=0
or,yly—6)-6(y—-6)=0
or,(y—6)(y—-6)=0

. y=6,6

Hence, x <.
Hence, option Cis correct.

I.x>+9x+20=0

or, x> +4x +5x+20=0
or, Xx(x+4)+5(x+4)=0
or, (x+4)(x+5)=0

x=—4,-5
I.y* =16
y=\/1_6=i4

While comparing the x and y values, we got one value of x is equal to y and other values is less than the
root values of y.

Hence, x <.

Hence, option D is correct.




11.

12.

I x* + (343)Y3 =56
x> +7=56

x* =49

S X=V49 =17

. (y)* x (y)*® - 295 = 217
(y)? =217 + 295
(y)’=512=(8)’

or,y=8

Here, x<y

Hence, option D is correct.

5x+4y=8 ... (iyx3
3x+2y=4 ... (ii) x5
15x+ 12y =24 ... (i)
15x+10y=20 ... (iv)
2y =4
y=2

Putting the value of y in (i), we get

5x+8=8

Here, x<y

Hence, option D is correct.
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13.

14.

I. x> + 8 = 6x

X’ —6x+8=0
X*—4x—2x+8=0
X(x—4)-2(x—-4)=0
(x-2)(x—4)=0
“x=2,4

.y’ -8y +15=0
y2—5y—3y+15=0
yly=5)-3(y-5)=0
(y=3)(y-5)=0
y=3,5

Here, while comparing the root values of x and y, we find that one root value of y lies between the
value of x. Therefore, no relationship between x and y can be established

Hence, option E is correct.

. V49 ++x + 15 =169

7+Vx+15=13

(Vx +15)* = (6)?

x+15=36

~x=36-15=21

I.y*—212 =364

y> =364 +212

y> =576

y=124

Here, relationship between x and y cannot be established

Hence, option E is correct.




15.

16.

(10)*"2
VX

I x*— =0

X2+1/2 _ (10)5/2 =0
(x)** = (10)**

x=10

Here, x<y

Hence, option D is correct.

.2x*+7x+5=0

= 2x°+2x+5x+5=0
=>2x(x+1)+5(x+1)=0
= (2x+5)(x+1)=0
x=-25-1

.3y°+5y+2=0

=3y’ +3y+2y+2=0

=3y(y+1) +2(y+1)=0

= (3y+2)(y+1)=0

y=-0.66,-1
Forx=-=2.5andy=-0.66,-1 x<y
Forx=—1andy=-0.66,—-1 x<y

Hence x is either less than or equal to y.

Hence, option B is correct.




17.

18.

l.x*+6x-112=0
x*+14x — 8 — 112=0
X(x+14) — 8(x+14)=0
(x+14)(x—8)=0
x=8,—-14

Il.y*+22y +112=0
y2+8y+ 14y +112=0
yiy+8)+ 14(y+8)=0
(y+8)(y+14)=0
y=-8,-14

For,x=—14andy=-8
X<y

For,x=—14andy=-14
X=y

But forx=8andy= —-8and-14

x>y

Therefore, relationship can’t be established

Hence, option E is correct.

. 2x*—13x+18=0

= 2x*—4x—-9x +18=0
= 2x(x—2)-9(x-2)=0
= (2x-9) (x=2)=0
x=4.5, 2

.y>—7y+12=0

=y’ —4y-3y+12=0
=y(y-4) -3(y-4)=0
=(y-3)(y-4)=0

vy=4,3
Forx=45andy=4,3 x>y

Forx=2andy=4,3 X<y

Hence, no relationship can be established

Hence, option E is correct.




19.

20.

x> +6x+9=0

=X +3x+3x+9=0
=>x(x+3)+3(x+3)=0
= (x+3)(x+3)=0
x=-3,-3

I.y’-y—20=0

=y’ -5y+4y—-20=0
=>y(y-5) +4(y-5)=0
=(y+4)(y-5)=0
y=-4,5

Forx=—3andy=-4, x>y
Forx=—=3andy=5, X<y

Hence, no relationship can be established
Hence, option E is correct.

1.3*-10x+8=0
=3x°—6x—4x+8=0
=>3x(x—-2)-4(x-2)=0
= (3x—4)(x-2)=0
x=4/3,2

I.2y*—19y +35=0
z2y2—14y—5y+35=0
=2y(y-7) =5(y-7)=0
=(2y-5)(y-7)=0
y=2.5,7

Hence, x<y
Hence, option D is correct.
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21. 1. x¥*-3=2x
v x*-2x-3=0
v xX*=3x+x-3=0
~(x+1)(x=3)=0
~x=3orx=-1

.y’ +5y+6=0
.'.y2+3y+2y+6:0
~(y+3)(y+2)=0
~y=—3ory=-2

For both values of x, x>y

Hence, option A is correct
22. 1.x*-25x+114=0

X' —19x—6x+114=0

L (x=6)(x—-19)=0

~x=190rx=6

I.y>—10y+24=0

Ly —6y—4y+24=0

~(y=4)y-6)=0

~y=6ory=4

Whenx =19, x>y
Whenx=6,x2y

Hence, x 2y

Hence, option C is correct.
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23.

24.

4 6
|.ﬁ+ﬁ_5ﬁ

4+ 6
OF,W—5\/;
10 = 5x

X=2

. y*++/256 =625
v +16=25
y?=25-16

y'=9

y=z%3

While comparing the values of x and y, one root value of y lies between the two root values of x
Hence, option D is correct.

.x>)-7V3x+36=0
=x*—4V3x-3V3x+36=0
= X (x—4V3)—3V3(x—-4v3)=0
= (x—3V3) (x—4v3) =0

~ X =3V3, 4V3

.y’ —11Vv3y+84=0

=y —4V3y-7V3y+84=0
=>vy(y—4v3)-7v3 (y—-4v3)=0
= (y—-7V3)(y—-4v3)=0

sy =7V3,4v3

Now, While comparing the root values of x and y
X y

3v3 4v3

3v3 7V3

4v3 = 4v3

4v3 < 7V3

<
<

Here, x<vy
Hence, option (B) is correct.
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25. 1.x*=361
x=%19

I.y* = 7269 + 731
y> = 8000
y=20

X<y

Hence, option A is correct.

26. LX*+5x+6=0
Sx +3x+2x+6=0
=>x(x+3)+2(x+3)=0
= (x+2)(x+3)=0
wx=-2,-3

.y’—4y—-12=0

=y -6y+2y—12=0
=y(y-6)+2(y-6)=0
=(y+2)(y-6)=0
.‘.y=—2,+6

Now, While comparing the root values of x and y
X y
-2= =2
—-2< +6
-3< -2
—-3< +6

Here, x <y

Hence, option (B) is correct.
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27.

28.

29.

I. 25x>*—90x +72=0
= (5x—6) (5y—12)=0
6 12

X575

Il.y* + 26y + 168 =0
=(y+12)(y+14)=0
>y=-12,-14

Hence, x>Y

Hence, option A is correct.

l.3x*-8x—16=0
= (3x+4)(x—4)=0

4
>x=—-—-,4
3

1.3y’ — 19y +28=0
= (3y-7)y-4)=0

7
:>y=§,4

Hence, relationship between x and y cannot be determined.

Hence, option E is correct.

. 12x* —4x —5=0

= 12x* - 10x + 6x-5=0
=>6x(2x+1)-5(2x+1)=0
= (6x—5)(2x+1)=0

X = or —+
T 2
I.8y*—4y—-4=0

=8y’ -8y +4y—4=0
=>8y(y-1)+4(y-1)=0
= (8y+4)(y—-1)=0

-1
SoyYy=— =1
Yy 2 ory

So, here we can’t say anything.
Hence, option E is correct.




30. 1.6x*-13x—44=0
6x° — 24x + 11X —44 =0
6x (x—4)+11(x—-4)=0
(6x+11)(x—4)=0
X=4 s
"6
.4y’ —17y-42=0
4y* - 24y +7y—42=0
4y (y-6)+7(y-6)=0
(4y+7)(y-6)=0

=6 —=
y 4

Hence Relationship cannot be established.

Therefore, option E is correct.

31. Multiplying equation (1) by 4 and equation (l1) by 3 we get,
12x + 20y = 138
12x—27y=-3

Subtracting both equations:
47y = 141

y=3

4x—-9y=-1

4x-9(3)=-1

dx-27=-1

dx=27-1

dx =26

X>y

Hence, option A is correct.
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32.

33.

. 35x° +4x— 63 =0
35x° + 49x — 45X — 63 =0
7x (5x+7)-9(5x+7)=0
(7x=9)(5x+7)=0

X-Q 7
"7’ 5

I.7y*—4y-20=0
7y2—14y+10y—20=0
7yly—=2)+10(y-2)=0
(y=2)(7y+10)=0

=) —=
y=2s 7

Therefore, relationship can’t be established

Hence, option E is correct.

I. x>~ 1089 =0,
X = 33

. 3y*—363=0,
3y*=363,
y2=121

y= 111

Therefore, relationship cannot be established

Hence, option E is correct.
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34.

x> —4V7x+21=0

= x* —V7x=3V7x+21=0
=>x(x-V7)-3V7 (x-V7)=0
= (x=V7)(x—3V7)=0

= x=V7,3V7

1. 2y* —8V5y—50=0

= 2y’ - 8V5y—-50=0

Taking 2 as a common term, we get
=y’ —4V5y-25=0

= y? +V5y - 5V5y —25=0
=>y(y+V5)-5V5(y+Vv5)=0

= (y+V5)(y—-5v5)=0

=y =—-V5, 5V5

While comparing the root values of x and y, we find that root values of y lies between the x's root
values.

Therefore, relationship between x and y can't be determined.
Hence, option E is correct.



https://testzone.smartkeeda.com/Test/Dashboard/IBPS-Clerk-Pre/5



